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ML9 Chapter 3 Warm-Up Answers

BLM 3–3 Chapter 3 Warm-Up

Section 3.1
1. –2.5, 
[image: image7.jpg]


, 2.6, 
[image: image2.wmf]8

3

  2. 4.8  3. 
[image: image3.wmf]5

18


4. 
[image: image4.wmf]1

8

  5. 
[image: image5.wmf]0.49

  6. –32  7. 81

8. 2 × 2 × 2 × 3  9. 4  10. eight pencils

Section 3.2
[image: image1.wmf]-

3

2

4

1. 3.5 cm  2. Example: 

3. (–4)(–4)(–4)(–4)(–4)(–4) = 4096

4. 9 765 625

5. Base: 2, exponent: 7

6. (2 × 2 × 2 × 2) × (2 × 2 × 2)

7. (–5)4  8. 
[image: image6.wmf]8

27


9. It equals –16 since –24 as repeated multiplication is –(2 × 2 × 2 × 2).

10. 25


Section 3.3
1. Examples: The exponent law states that when multiplying powers with the same base, you can add exponents. (2 × 2 × 2 × 2) × (2 × 2 × 2) = 27
2. (–5)6  3. 1  4. 46

5. Examples: The exponent law states that when a power is raised to an exponent, you can multiply exponents. 83 × 83 = 86
6. Example: First, she subtracted 8 from 5, and then she added 10 to this answer.

7. –33  8. 6 ÷ (2 × 5)  9. –13  10. 23

Section 3.4
1. Power: 34, base: 3, exponent: 4

2. 217  3. 81  4. (10 – 12)  × (–5) – 32

5. 12  6. Example: (6, 3), (7, 4), (8, 5)

7. Examples: The second number is double the first number. The first number is half the second number.

8. 26, n + 5  9. 8.2  10. $24
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